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Year 3 Simmering:
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1) How many children’s favourite colour is green?
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Red Blue Yellow Green
Favourite colour

2)  Find the total of £3 and 25p + €4 and 78p
3) Calculate 84 =— Y

H4)  What is the value of the Y digit in H5I?

White
Rese




Year 4 Simmering:
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)  Complete the factors of I5
I ) 3 ) )

2) Whatis 7 X 3?

3) Work out fifty-four divided by six

HY) 9 kilometres = metres
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A: Place Value, Add and Subtract

B: Multiply, Divide and Fractions

C: Measure and Geometry

211 2:11 2:17
1. What is the missing number? 11. 4 x 10 = 21. What units would you use to
il?
0O 5 10 15 20 |:| measur.'e the mass of a pencil? »
72 511 a. centimetres
2. What is the value of the 6 in this 12. 18 + 2 = b. grams
number? 26 c. millimetres )
2:3 . 212 2:24
3. Estimate the number labelled. 13. What symbol is missing? 22. How many faces does a cube
[ I 1 = 2
! R B 45 5[ |9 have?
] 24 - 212 a.6
4. Use €, > or = to make this correct: 14. What symbol is missing? b. 8
28 [ ] 13 7] ]3=21 c. 12
. ] . 25 ] ] 213 . 2:25
5. Write this number in numerals. 15. Tick {v') if true: 23. Name the shaded face on this
eighty four 3xd-= 4x3|:| 20+2=2+20 |:| cylinder.
. 26 ] 214
6. There are 20 sweets in a bag. Tom 16. £12 is shared between 3 people.
eats 13 of them. How many are left? How much does each person get?
27 . 214 ] 2:26
7. 7+ I:l = 20 17. 6 cars each have 2 people in them. 24. Tick (¥) the shape that does not
How many people are in the cars? contain a right-angle.
2:8 . 215
8. 52 - 18 = 18. Circle two thirds Q ‘ / /
of the strawberries. % %
] ] 29 .3 215 ] ] 2:28
9. Is this true? Write ‘yes’ or 'no’. 19. Shade in — 25. Ben is facing South. Mo
15 -6 =6 - 15 of the shape. What direction will :3”'/ N
) 710 ) 315 he be facing after v M_'l-. g e
10. Use 49 + 24 = 73 to help find: 20. What is 3 of 12 7? turning through 2 i~ i/;_
73 -49 = right angles? s
Total (A) Total (B) Total (C)
Test Total (A+B+C) R (0-9) | Y (10-19) | G (20-25)
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A: Place Value, Add and Subtract

B: Multiply, Divide and Fractions

C: Measure and Geometry

a1 310 3:19
1. What is the missing number? 11. 40+ 8= 23. The cup holds 250 millilitres of
0 50 100 [ | 200 250 liquid. The jug holds 1 litre of liquid.
22 =10 How many more —_ 2
2. What is the 7 worth in this number? 12. 9x 8= millilitres does the - %
347 jug hold? <D < >
] ] ] 3:3 ERT 3:21
3. Write this number in words. 13. 18x3= 22. Tom bought 3 cans of pop that
602 were 75p each. How much did they
22 12 cost in total? Give your answer in
4., Estimate the labelled number? 14. | buy 5 packs of balloons. | have 45 pounds and pence.
[lj 5:3 4 130 balloons. How many are in each pack?
] o as . 1 313 . R 3:22
5. Write a number that is bigger than 16. Circle 10 23. What time does H /
793 using the same three digits. of the marbles. this clock show? s A
6 214 = =
6. 302-10= 16. What fraction % o
is shaded? IR
37 1 315 . 327
7. 752-93= 17. What is - of 187 24. How many right angles make a
complete turn?
. 38 ] o 316
8. Circle the best estimate to 98 + 131 18. This shape is in tenths.
220 230 240 250 Shade in 5
39 317 . . . 3:28
9. Use 12 + 25 = 37 to help solve: 19. Add the 2 . 3 25. Circle the horizontal line.
370-120= | fractions. 77
] . 39 ] 318
10. What is the missing number? 20. Write the 1 1 1 1
182 -[ ]=124 smallest fraction. 5 6 4 2
Total (A) Total (B) Total (C)
Test Total (A+B+C) R (0-9) | Y (10-19) | G (20-25)
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A: Place Value, Add and Subtract

B: Multiply, Divide and Fractions

C: Measure, Geometry and Statistics

£2.45. How much do | have left?

41 49 4:20
1. What is the missing number? 11. 9 x 11 = 21. What is the area of this shape?
18 [ ] 30 36 42 ' ]
. L. 4:1 . . 4:10 1cm¢
2. What is the missing number? 12. Circle the sum that is the same as [ '
4,000 5,000 6,000 [ | 8,000 22x5:  2x5x11 2x3x22 1
] 42 411 . ] 4:24
3. Round this number to the nearest 13. 356x3= 22. Circle the name that describes the
100: 2,167 biggest angle.
4:2 4:12 .
4. What is 1,000 less than 1,465? 14. To work out 47 x 6 you could do: Right Obtuse Acute
[ Ixe+7x[ ] angle angle  angle
] 43 . 1 | 413 127
5. What is 6 less than 27 15. C|rc|e3the qui\ralengfraction to:. 23. To transform shape A onto B:
12 16 20 Translate A
. . . 44 4:14 .
6. What is the value of the 7 in this 16. Complete 37 38 39 I:l units to
] .
number? 2,789 the sequence: 100 100 100 the |:|
. . 45 4:15 . . 4:29
7. Write the number 90 in Roman 17. 3,5 24. The distance time graph shows a
numerals. 7 7 trip to the shops. The return journey
75 1 PR takes 20 minutes. Show this.
3. 1,235-624 = 18. Write = as a decimal number. e
2 5
. 47 417 g
9. Write the sum to check 3,128 + 854 1. 8 + 10 = g
=3,982: 3,082 |ssa] |3,128 Sos
h q h 4:8 bel h | i 4:18 0 10 _i:;: |: a0 . -|tiI 50 60
. Ime [MInuUtes .
10. | have £5. | spend £1.50 then 20. Label 4.8cm on the ruler section: 25. How long did the person spend at 4:30

4 4.5 5 the shops?
Total (A) Total (B) Total (C)
Test Total (A+B+() R (0-9) | Y (10-19) | G (20-25)




Answers — Year 3 Simmering:

1@shbaCkzy |

1) How many children’s favourite colour is green? /

. I I S children
™ il

Red Blue Yellow Green
Favourite colour

2) Find the total of £3 and 25p + 4 and 78p £8 and 3p

H
7

Number of children
o
|

3) Calculate 84 =Y  2I

H4)  What is the value of the Y digit in 45I? HOO or Y hundreds
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Answers — Year 4 Simmering
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)  Complete the factors of I5
1,3, 9 , 15

2) Whatis7 X 3? 2

3) Work out fifty-four divided by six 9

4) 9 kilometres =__ 9,000 metres
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Answers *

A: Place Value, Add and Subtract B: Multiply, Divide and Fractions C: Measure and Geometry
21 211 217
1. What is the missing number? 11. 4 x 10 = 21. What units would you use to
0 5 10 15 20 |:| 25 40 measure the mass of a pencil? \‘
72 211 a. centimetres b
2. What is the value of the 6 in this . 12. 18 = 2 = b. grams
number? 56 6(units) 3 c. millimetres )
23 L 212 2:24
3. Estimate the number labelled. 13. What symbol is missing? 22. How many faces does a cube
| T | 16-17 . = ?
I VR B 45 5[ |9 have?
] 74 - 712 a.b a
4, Use £, > or = to make this correct: 14. What symbol is missing? b. 8
28 [ |13 > 7 J3=21 X c. 12
] ] ] 75 ] ] 213 . 2:35
5. Write this number in numerals. 15. Tick (¥} if true: v 23. Name the shaded face on this
eighty four 84 3Ix4=4x3 |Z| 20:2=2+20 I:l x cylinder.
— = Circle
6. There are 20 sweets in a bag. Tom 16. £12 is shared between 3 people.
eats 13 of them. How many are left? 7 How much does each person get? £4
27 . 214 ] 2:26
7. 7 + I:l = 20 17. 6 cars each have 2 people in them. 24. Tick (¥) the shape that does not
13 How many people are in the cars? 12 contain a right-angle.
8 52 - 18 = 18. Circl hird o ’\ / / paralt
. - = . Circle two thirds v m
34 of the strawberries. 2 parts
] ] 2.9 3 215 . ] 2:28
9. Is this true? Write ‘yes’ or 'no’. 19. Shade in — 25. Ben is facing South. Moty
15-6=6-15 No of the shape. 3 parts | what direction will 7 AN
210 1 16 he be facing after ""’“"""'l._ eme - North
10.Use 49 + 24 = 73 to help find: 24 20. What is 3 of127? 4 turning through 2 NG
73 - 49 = right angles? s
Total (A) Total (B) Total (C)
Test Total (A+B+C) R (0-9) | Y (10-19) | G (20-25)




** Answers

A: Place Value, Add and Subtract

B: Multiply, Divide and Fractions

C: Measure and Geometry

31 310 319
1. What is the missing number? 11. 40+ 8= 23. The cup holds 250 millilitres of
0 50 100 [ | 200 250 150 5 | liquid. The jug holds 1 litre of liquid.
22 =10 How many more — 2 750
2. What is the 7 worth in this number? 12. O9x8= millilitres does the _ '
347 7 units 72 . R — =
jug hold? C—D < >
] ] . 33 311 321
3. Write this number in words. . 13. 18x3= 22. Tom bought 3 cans of pop that
Six hundred 54 .
602 and two were 75p each. How much did they
77 12 cost in total? Give your answer in £2 and
4, Estimate the labelled number? 14. | buy 5 packs of balloons. | have 45 pounds and pence. 25p
[lj 5:3 4 160 60-75 | balloons. How many are in each pack? 9
] o 35 . 1 313 . B 322
5. Write a number that is bigger than 937 or | 16- Circle 0 23. What time does g /
. .. 1 . &7
793 using the same three digits. 973 of the marbles. this clock show? s i A 5
36 314 - =" | (minutes
6. 302-10= 16. What fraction S < <& < | 3° % 8 ( )
292 |. -0 O = or— , past 3
is shaded? O e o |12 4 T
37 1 315 . 327
7. 752-93 = 17. What is 5 of 18?7 24, How many right angles make a
659 3 complete turn?
. : 4
. 3:8 . . 316
8. Circle the best estimate to 98 + 131 18. This shape is in tenths. I
220 240 250 230 | shadein —. 2 parts
5
39 3:17 . . . 3:28
9. Use 12 + 25 = 37 to help solve: 19. Add the 2 3 5 25. Circle the horizontal line.
- 250 ; EIEr] e
370-120=[ | fractions. 77 7
P PET Left line
10. What is the missing number? 20. Write the 1 1 1 1 1 circled
182 -[ |=124 58 | smallest fraction. 5 6 4 2 6
Total (A) Total (B) Total (C)
Test Total (A+B+C) R (0-9) | Y (10-19) | G (20-25)




**¥* Answers

A: Place Value, Add and Subtract B: Multiply, Divide and Fractions C: Measure, Geometry and Statistics
41 49 4:20
1. What is the missing number? 11. 9 x 11 = 21. What is the area of this shape?
18 [ ] 30 36 42 24 99 | ] ,
B L. 4:1 . . 4:10 1cm¢ 8cm
2. What is the missing number? 12. Circle the sum that is the same as 2 x5 x ' l T
4,000 5000 6000 [ ] so00 | 7000 |354s: 2x3x22 1 T T T T I T[]
] 42 4:11 . ] 4:24
3. Round this number to the nearest 13. 356x3= 22. Circle the name that describes the
100: 2,167 2,200 1,068 biggest angle.
4:2 4:12 . Obtuse
4. What is 1,000 less than 1,465? 14. To work out 47 x 6 you could do: Right Obtuse Acute angle
465 [ ]xe+7x[ ] 40,6 | angle angle angle.
] 43 . 1 | 413 427
5. What is 6 less than 27 15. Circ A e qui\ralengfraction toz. 3 23. To transform shape A onto B:
-4 5 6 =
12 16 20 12 Translate A 6. left
2.4 4:14 4
6. What is the value of the 7 in this 16. Complete 37 328 39 40 |:| units to h
2 700 . —
number? 2,789 the sequence: 100 100 100 100 the |:|
. . 45 4:15 . , 4:29
7. Write the number 90 in Roman 17. 3 .5 8 24. The distance time graph shows a
numerals. XC 7 7 7 trip to the shops. The return journey Line
: - takes 20 minutes. Show this.
46 416
8. 1,235-624 = 18. Write 1 as a decimal number. 2 drawn
611 2 0.5 g from
] 47 117 g (30, 2)
9. Write the sum to check 3,128 + 854 19. 8+ 10 = 8! to
-3,982: 3982 |ss4] 3128 = 0.8 Bos (50, 0)
4:8 i 4:18 h 0 10 a0 50 60
10. | have £5. | spend £1.50 then 20. Label 4.8cm on the ruler section: Time (minutes)
£2.45. How much do | have left? £1.05 T T T T T — Arrow | 25- How Iong did the person spend at | 430
T ) 4 4.5 + 5 the shops? 20 mins
Total (A) Total (B) Total (C)
Test Total (A+B+C) R (0-9) | Y (10-19) | G (20-25)




